Name:

Weekly Math Homework — UT:W5

Monday Tuesday Wednesday
-10 - 3¢3+10 502+3e-4 (-1+10e-6) o7
1- 42+ 2 + -3 V36-22-9 36+-6e-4-9
<,>,0r =
3 <, >,0r = <, >, 0r =
7T 3.2626 21 07s E
—235 —2.7 : 1=

following number.

1.3X10° =

2.02X107* =

Write the standard form of the

Write the following in scientific notation
234,000,000 =

.0000239 =

Evaluate V87 to
the nearest whole
number

Evaluate /64

irrational?

V400,v2,—V9,- V17

Which of the following numbers is

What two integers does /140 fall
between?
A) 9 and 10
B) 10 and 11
C) 11 and 12
D) It's exactly 70

Convert 2.1717 to a fraction.

greatest

2
5’ 2.0x107%,0.2,200%

Order the following from least to

Order the following from least to
greatest

5.25 51 47 4.6
. ’ 3) 8’ .

Order the following from least to
greatest

L 00501251
1257 T

7 .
Convert 5 to a decimal

Convert 5.55 to a reduced improper
fraction

5 .
Convert 5 to a decimal

4 4

7 14

2321
5 2




Warm Ups
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Quiz




